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Question Number : 1 Question Id : 953357482943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Humans are able to learn and remember new things in motor and cognitive

domains throughout their life span.

Reason (R) : Outcome of a severely deprived childhood can be easily changed in later years.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 1 Question Id : 953357482943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357482944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which principle of development does the following example illustrate-

The development of a child does not take a straight path, it turns back and then moves forward
again.

Options :

1. Principle of uniformity

2. Principle of spiral advancement

3. Development is uni-directional

4. Development is discontinous.

Question Number : 2 Question Id : 953357482944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357482945 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Many parents demanded a ban on the popular cartoon show Shinchan as their children were

imitating the central character's 'unruly' behaviour. This illustrates is/are an

important agency of socialization.
Options :

1. Media

2. Peers

3. Neighbourhood

4. Religion

Question Number : 3 Question Id : 953357482945 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357482946 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement about progressive education is correct?

Options :

1. It involves lecture method and grouping according to the ability/marks of the students.

2. It involves individualized learning, tests at the end of the year and ranking of students based on

marks.
3. It involves experimental learning and asessment through a variety of methods.

4. It involves programmed instruction and use of rewards to encourage learning.

Question Number : 4 Question Id : 953357482946 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357482947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Jean Piaget proposed the following of sequence of developmental stages:
Options :

1. Pre-operational, sensory-motor, concrete operational, formal operational.
2. Sensory-motor, Pre-operational, concrete operational, formal-operational.
3. Sensory-motor, Pre-operational, formal-operational, concrete operational.

4. Concrete operational, Formal operational, sensory-motor, pre-operational.

Question Number : 5 Question Id : 953357482947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357482948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, which of the following questions will be answered only by the children in

formal operational stage?



Options :
1. Ronak ate 11 chocolates. His sister ate twice as many. How many chocolates they both ate in

total?
2.If Ais greater than B and B is greater than C. What is the relation between A and C?
3. How many whole numbers are there between 67 and 81?

4.7+9=?

Question Number : 6 Question Id : 953357482948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357482949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, which of the following factors influence learning?
(i) social interaction

(ii) cultural tools



(iii) language

(iv) negative reinforcement
Options :

1. (iv)

2. (i)

3. (i) (i) (iii)

4. (i) (iii) (iv)

Question Number : 7 Question Id : 953357482949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357482950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to Lev Vygotsky, when teachers make adjustment in the support extended to the child

according to the child's current level of performance, it is referred to as-
Options :

1. reinforcement

2. conditioning

3. modelling

4, scaffolding

Question Number : 8 Question Id : 953357482950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357482951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lawrence Kohlberg the child's moral development in stage 3 - maintaining mutual

relation, the 'Golden Rule' refers to the stage where:-
Options :

1. the child wants to please and help others.



2. the child understands the social system is dependent on the performance of one's duties to

maintain social order.

3. right actions are defined according to the norms, needs and rights which are unaminously

accepted by society.

4. the child not only keep in mind the norms of the society but also the limits to which the

universal principles are applicable.

Question Number : 9 Question Id : 953357482951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357482952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Howard Gardner proposed that-

Options :

1. intelligence is a practical goal oriented activity

2. intelligence comprises of seven intelligences in a hierarchical order

3. intelligence is a generic ability that he lablled as 'g'.



4. intelligence comprises of several kinds of human abilities.

Question Number : 10 Question Id : 953357482952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357482953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Several television commercials depict men and women in stereotypical roles. How should a

teacher discuss this issue in her classroom?

Options :

1. She should encourage students to accept statements made in television commercials at face
value.

2. She should encourage students to analyze it critically and arrive at a reasoned decision.

3. She should encourage students to reach conclusion on the basis of given facts in the

commercial.

4. She should encourage students to imitate the behaviour of men and women shown in the

commercials.



Question Number : 11 Question Id : 953357482953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357482954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the context of cognitive and language development, who said "Thought comes first than
language"?

Options :

1. Jean Piaget

2. Lev Vygostky

3. B.F. Skinner

4. Jerome Bruner

Question Number : 12 Question Id : 953357482954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357482955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement regarding proposals made by National Education Policy 2020

(NEP) is not correct?

Options :

1. NEP 2020 proposes that a variety of methods and strategies such as group work and role plays
be used for assessment.

2. NEP 2020 proposes shift from formative to summative assessment.

3. NEP 2020 proposes that apart from assessment by the teacher other ways such as self -

assesment and peer assessment should be encouraged.

4. NEP 2020 proposes that report card of the student should include progress in the cognitive,

affective and psychomotor domains.

Question Number : 13 Question Id : 953357482955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357482956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Should terms take 'slow learner' 'brilliant' and 'average' be used to describe students in a

classroom?

Options :

1. Yes, it helps students understand the level of their performance.

2. No, these terms label children based on ability and are non-inclusive.
3. Yes, it can help a teacher categorize children in his clasroom.

4. No, these categories are not sufficient, we need to add many more to understand student

profiles.

Question Number : 14 Question Id : 953357482956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357482957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which kind of diversities should a teacher respect and include in her classroom?
Options :

1. Regional

2. Socio-cultural

3. Economic

4. Linguistic

Question Number : 15 Question Id : 953357482957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357482958 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Murti, a grade 4 student, is able to read only at the level of a grade 1 student. He also has difficulty

matching sounds, spelling words and reading letters. Murti shows characteristics of-
Options :

1. Dyspraxia

2. Dyscalculia

3. Dyslexia

4. Dysgraphia

Question Number : 16 Question Id : 953357482958 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357482959 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher can identify creative children in her class by-
Options :

1. their ability to think convergently

2. their popularity among peers

3. their innovative style of thinking

4. their selection of simple and recall based tasks.

Question Number : 17 Question Id : 953357482959 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357482960 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are the following behaviours primary characteristics of-



Impulsivity, low attention span, fidgeting, inability to sit for long?
Options:

1. Autism

2. Giftedness

3. Attention Deficit Hyperactivity Disorder

4. Creativity

Question Number : 18 Question Id : 953357482960 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357482961 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following strategies does not promote inclusion?
Options:

1. Flexible grouping

2. Differentiated Instruction

3. Ability grouping



4. Reasonable curricular accomodation

Question Number : 19 Question Id : 953357482961 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357482962 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a characteristic of child with giftedness?
Options:

1. High level of commitment

2. Prefers working independently on tasks

3. Ability to recognize multiple options while working on problems.

4. Eagerness to repeat the same task multiple times.

Question Number : 20 Question Id : 953357482962 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357482963 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should employ classroom management strategies which focus on:
Options:

1. controlling the class through rigid rules

2. expecting same behaviour from all children

3. making students abide to all rules without questioning

4. giving ample oppurtunities for self reflection

Question Number : 21 Question Id : 953357482963 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357482964 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is the most effective strategy to encourage conceptual development in children?
Options :

1. Keep punishing students till they make the required changes.

2. Getting children to forget old concepts and learn new ones by rote memorization.

3. Give a variety of examples and non-examples and encourage students to use reasoning.

4. Rewarding students each time they make a conceptual change in their schema.

Question Number : 22 Question Id : 953357482964 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357482965 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Effective teaching includes-

(i) Taking care of emotional needs of students.

(i) Adapting curriculum and assessments to the student's needs.
(iii) Flexible grouping for peer interaction.

(iv) Employing rigid classroom management strategies.

Options :

1. (1) (i) (iii) (iv)

2. (i) (ii) (iii)

3. (ii) (iii) (iv)

4. (i) (iii) (iv)

Question Number : 23 Question Id : 953357482965 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357482966 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rekha provided a map of India with landforms and rivers to her students and encouraged them to
make initiative guesses about the location of major cities in it. Her approach to teaching-learning
is-

Options :

1. Rote memorisation

2. Discovery learning

3. Direct instruction

4. Expository teaching

Question Number : 24 Question Id : 953357482966 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357482967 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Presentation of a concept and its sub concepts in a heirarchial and interconnected manner is

called-

Options :

1. Mnemonic

2. Heuristics

3. graphic organizer

4. Algorithms

Question Number : 25 Question Id : 953357482967 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357482968 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Several educational reports are revealing that students are underperforming than the expected

learning levels. The first unit of analysis to understand this gap should be:

Options :



1. System
2. Child
3. Community

4, Parent

Question Number : 26 Question Id : 953357482968 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357482969 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children's intrinsic motivation to learn is increased when -

Options :

1. learning is centred around rewards and punishment.

2. learning strategies focus on mere memorization and recall

3. their learning enviroment fosters their sense of belonging and agency.

4. the teachers encourage obedience and adopt standardized methods of assessment.



Question Number : 27 Question Id : 953357482969 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357482970 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which emotion would facilitate the process of meaningful learning?
Options:

1. Shame

2. Fear

3. Hopelessness

4. Curosity

Question Number : 28 Question Id : 953357482970 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357482971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion: Teachers must encourage children to share the 'naive' or intuitive theories that they
construct.
Reason: All children start off with pre-conceptions of reality and these conceptions influence their

understanding in schools.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 29 Question Id : 953357482971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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FFO(R): T 1 0 eIl ST 0 €, AT T o e 7)1 4 Rt

Options :

. (A) 3T (R) 31 w1 & 37 (R) e S 0 & (A)

(A) ¥ (R) THT & 37 (R) e e 9 2 (A) F

2

3. (A) T2 2 ST (R) T4 2|
4 (A) 377 (R) TFT 7T 2

Question Number : 30 Question Id : 953357482972 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What tasks should be focussed upon in a socio-constructivist classroom?
Options:

1. Task that are challenging and allow critical thinking.

2. tasks that are repetitive and mechanical

3. tasks based on recalling the text

4. tasks that do not permit questioning by the child.

Question Number : 30 Question Id : 953357482972 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT - H =T En"a:l'r%h fore 2 & T T WEe & tlr%ﬂj?

Options:
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Mathematics and Science

Section Id : 95335715099
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60

Number of Questions to be attempted : 60

Section Marks : 60

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 95335727571
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 953357482973 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following fraction(s) can be written as a terminating decimal?

()= (i) = (i) =



Options :
1. (i) only

2. (i) only
3. (ii) and (iii) only

4. (i) and (i) only

Question Number : 31 Question Id : 953357482973 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
fTreferfiga 3 & F17 f =1 (1) 1 0 |19 S99 % &9 5 foraT ST FohaT 27

L | s |
(i) T (ii) e (iii) 5
Options :

. Fa (i)
5 Fae (ii)

Question Number : 32 Question Id : 953357482974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



547,527 547527
= X, then the value of is
0.0082

Options :
1. 10x

5> 100x

3. 100

Question Number : 32 Question Id : 953357482974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

547.527 5 o ATs
=X% df
0.0082 82

FAFE
Options :

1. 1 0x

5> 100x

X

3. 100

Question Number : 33 Question Id : 953357482975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
The distance of the Earth and Moon is 384,000,000 m. If it is expressed in standard form i.e. p X 10", then the value

of p and n are respectively
Options:
1. 3.84and 8

2. 0.384 and 9
3. 384 and7

4. 384 and 6

Question Number : 33 Question Id : 953357482975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T i 7 4 41 384,000,000 m |7 8 7, a9 pe 10 5 0 5 2 o 9, 7 p & m
% A A

Options :

| 3.84 W8T
, 0.384 39T
3 384 3R 7F

4 384 FR6E

Question Number : 34 Question Id : 953357482976 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Arrange the following numbers in ascending order:

Options :
1 3 2 1 g2n100
_2_ :_1_ P F (5)
’| 2 3 5 2
3 1 2 22100 4
_1T :_Z_JTJ 5) Pl
2 5 5 2

Question Number : 34 Question Id : 953357482976 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T — y 3 11 2 f2\100
B IGILEG) w_o.m\ﬂ'raa-reqﬁﬁ-. Wwﬁﬁqz—lg,—z— E ’E’ g

K 5
Options :
1 3 2 1 [2)\100
_Z_J_l_i_ J_J i)
1. 3 ehe Lot \E
3 1 2 /2100 4
_1 _1_2_1_. e y B
5 5 3752 \z 2



Question Number : 35 Question Id : 953357482977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If 78 x 3945 is divisible by 11, where x is a digit; then x is equal to
Options :

1. 0

Question Number : 35 Question Id : 953357482977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
afe 78X3945 T 11 | fareTiorm 2, 781 x U STF T, Ay TR 2

Options :
1. 0



Question Number : 36 Question Id : 953357482978 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

One of the factors of (x —3)245(x —3) +4 is
Options :

1. =1

9 2
3. &2

4. x—3

Question Number : 36 Question Id : 953357482978 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
(¥=3)7+5(x=3)+4 T TF UGS B

Options :

Question Number : 37 Question Id : 953357482979 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

2
_,x_ﬂ

if =5 =x'?,x>1anda—b = 3,thenvalueof (a+b) is

xaz
Options :
1.1

Question Number : 37 Question Id : 953357482979 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2
xa

2
xb

j=x1? x >1sika—b=3% @t(a+b) o=t

Options :

1.1

[-J

Question Number : 38 Question Id : 953357482980 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ifa—b = 7 and a* + b* =29, then what is the value of = —i
a

Options :

| w

Question Number : 38 Question Id : 953357482980 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

aea—b =7 za + b2=29%,?-ﬁ§—% F AT

Options:



Question Number : 39 Question Id : 953357482981 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
let p=2x%-x3y3+7y4
q=x4+3x3y3—5}f4

and r:3x4—4x3y§+2y4
Then, p+q—ris equal to

Options :
| 7x%-2x3y3+4y4

2 x%+x3y34+y4

5 623y3

Question Number : 39 Question Id : 953357482981 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1 it 75

ﬁF:2I4—I31j+?F{

q=14+3xﬁﬁ—jfi
EﬁTYZGI4—4J%V3—2Y4%|
EE}p4q—rHUET%:
Options :

1 ?r4—31%r3—4r4

Z_ﬁfé}iﬂA
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Question Number : 40 Question Id : 953357482982 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If _?_x = 3, then what is the value I 2
Sx+1 xr—1
Options :
1. 2
i
2. ¢4
3, 4
&
4. 3

Question Number : 40 Question Id : 953357482982 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=2 okl
=38, T —— W HR HTE?
5.x+1 s
Options :
—=5H

1.3
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Question Number : 41 Question Id : 953357482983 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the mean of five observations x,x +3,x +6,x +9 and x + 12 is 15, then the mean of first three observations is
Options:
1. 11

3 155

4 11.2

Question Number : 41 Question Id : 953357482983 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A TN x, x+3, x+6, x+9 3T y+12 FTHTET 15 2, 7 UEet o1 Tequrt =7 Avey 2

Options:
7. 11



Question Number : 42 Question Id : 953357482984 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Acard is selected at random from a standard deck of 52 playing cards. What is the probability of selected card being
not a king?

Options:

12
1. 12

N
L

[
0 |

Question Number : 42 Question Id : 953357482984 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

S T 1 O S0 T % 8 T 7€ A1 0 & 1 1 | 36 4 77 T 5 U AT e 2
ST 2
Options :
12
1. 13



Question Number : 43 Question Id : 953357482985 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
How many times a wheel of diameter 105 cm will rotate to cover a distance of 330 m? (Take ™ = %)

Options :
1. 100

5> 110

4. 105

Question Number : 43 Question Id : 953357482985 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

N

330 %1 T 7 T oA, 103 o ST e T TFET, 1 Tt =T T ) ( T[—— )

Options :



1 100
5 110

3. 90

Question Number : 44 Question Id : 953357482986 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The radius and height of the cylinder are 7cm and 12cm, respectively. Another cylinder is formed by interchanging its
radius and height. The ratio of the volumes of the two cylinders is

Options:
1. 7:12

5 12:7

Question Number : 44 Question Id : 953357482986 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tore e 2 T % 35S AT 7 can 9 12 cin ) PR &7 S 281 R G 2, T 9 ekt G
ST | 57 29T ST 5 ST 1 4

Options :
1. 7:12



Question Number : 45 Question Id : 953357482987 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the area of a square A is equal to the area of a circle B, then the ratio of perimeters of Aand B is
Options :

2. 1: "I,"I'E

g VT

Question Number : 45 Question Id : 953357482987 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Tt erReT 3T A 3 &0 T 9 B % S o S €, A A ST B 3 T 7 T @

Options:



Question Number : 46 Question Id : 953357482988 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
To prove, AABC = APRQ, by SAS congruency rule, besides AB=PR and BC=QR, we have to show

Options :
1. LA=LP

), £C=24Q

3. £B=4LR

4. LZA=LR

Question Number : 46 Question Id : 953357482988 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
SAS FFTTEHAT 2 3

AABC = APRQ g === Tom,
AB=PR T BC=QR % (q1{=h &5 g9111 2 ToF

Options :
| LA= LPF

, LC= LQ¥



3 LB= ZR?

4 LA= LRE

Question Number : 47 Question Id : 953357482989 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following statements:

S51: A triangle is completely determined by its three sides

52: A unique quadrilateral cannot be constructed if measure of its four sides are given
Which of the following is correct?

Options:
1. Only 51 is true

2. Only 52 is true

3. Both 51 and S2 are true

4. Both S1 and S2 are false

Question Number : 47 Question Id : 953357482989 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

feAfeTias ut W fa=m fenterm:

S : T TSt SR AT WAl 10T AT 1 &0 ¥ T 2 e €

S, : T T 1 A et 3 fam T, St At W T A o o e
e 5 5 e w8

Options :

1 FIT S, T 2



, FIT S, T |

| s, i s, drt A

, Sy S, T 7T T

Question Number : 48 Question Id : 953357482990 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Assertion (A): A rectangle has 2 lines of symmetry.

Reason (R): Since every rectangle is also a parallelogram, therefore the number of lins of symmetry of a parallelogram
is also 2.

Which of the following is correct?
Options :

1. (A) is true, but (R) is false
2. (A) is false, but (R) is true

3. Both (A) and (R) are true

4. Both (A) and (R) are false

Question Number : 48 Question Id : 953357482990 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AR (A) - T ST 1 ) T T A B
T (R) : T T T T AT s 1 21T 2, R, o ATt =g 1 e e 1 2 i
AT & %M 981 27

Options :

| (A) ¥ 2, T (R) S 2

, (A) 3T 2, T (R)FF 2

3 (A) ¥ (R) AT & 2

4 (A)STR (R)EHT 379 T

Question Number : 49 Question Id : 953357482991 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

It n=F+V, where F and V represents respectively the number of faces and vertices of a polyhedron having 30 edges,
thenvalue of (2n+1) is

Options :
1.2

4, 65

Question Number : 49 Question Id : 953357482991 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

e 0 =F+V %, FeT F 30V F70T: 30 T et % S o el e T 61 GGHTaR 1 i o
Fﬁ(inH)EWH%:

Options :

Question Number : 50 Question Id : 953357482992 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following two statements for the congruency of two polygons having same number of sides:
51: Their corresponding sides are equal

52: Their corresponding angles are equal

Which of the following is correct?

Options :
1. Only 51 is true
2. Only 52 is true

3. Both 51 and S2 are true

4. Both S1 and S2 are false

Question Number : 50 Question Id : 953357482992 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

ST 21 W SGATeR] AT & GRSl 21 AT % (o1, Reeiad a1 el O fae
S, TAT T WS S 2

S,: 7% T 0T SR 3

e & 5 #19 7 7

Options :

1 FIT S, T 2

, FT S, TT 2

S, AR S, TAT T 7

3.

S, ¥R S, TAT 319 7

4.

Question Number : 51 Question Id : 953357482993 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Middle grade children sometimes do not regard rectangles and squares as parallelograms. As a teacher, to help such
students, you should:

Options :

1. Tell children that rectangles and squares have different mathematical properties than those of parallelograms.
5 Not initiate such discussions as middle school students cannot do generalizations.

Give a variety of manipulatives to children that have same mathematical properties but different physical
3. Characteristics.

4. Ask the teacher teaching at the primary grades to help such students as these concepts are dealt at primary grades.



Question Number : 51 Question Id : 953357482993 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TSRS 4T 3 e 7 A AT A T 51 QT e e AT 2 T (160 5 0 5, S 57 9
1 TE % o

Options :

: BT T TAHT ST 135 ST 3717 3T & 01 WHHidtﬂgﬂﬁﬁ%ﬁﬁ‘%ﬁ%l

9 =TI o 7 e ST, e e e 3w e e e o

, T TTOTTer 0T, ] 1 e AT AT (el 2t IeTer Al areet a1 €1 T =]

T T H T Tt STETeRT 1 U 73 3 el e ST, T Tt e e ot e Shean
4 TFEAIAE

Question Number : 52 Question Id : 953357482994 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Mathematics Laboratories’ are an important part of the process of mathematics teaching and learning because:
Options :

1 They provide opportunities to learners for experimentation and exploration in mathematics.
o They help to improve score of schools during annual inspection.

3. They help schools to attract more students for admission.

4. They help teachers by providing free time to complete administrative work.



Question Number : 52 Question Id : 953357482994 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TV FRATSITEAT” 70T o TRTEAVT S SATERTH 61 TTohAT 31 U FEcaqul | 2,

Options:

1 T ARG 31 VTS H TR ST ST 3 SATEX SUST6H FIAT 2

, mﬁaﬁﬁm%mé%mﬁﬁ%mﬁ%ﬁgﬂuﬁﬁﬂ%mmm%

5 3 VI 3 oA 23fireh ST Rt STRTYS SR T AT et A 2

. TTTHe: a1 QU 3 o 170 o foTefeR oAt @redt 99 3o 2

Question Number : 53 Question Id : 953357482995 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The levels of Van Hiele's geometric reasoning are given below. They are arranged in random order.
(i) Relationships among figures

(i) Recognition of figures

(ili) Axiomatic Reasoning

(iv) Deductive Reasoning & formal proofs

(v) Analysis of components of figures

Choose the correct sequence.

Options :
1. (i), (i), (v), (iv), (iii)

2. (i), (ii), (v}, (iv), (iii)
3, (i), (v), (i), (iv), (iii)

4. (iv), (i), (ii), (v), (i)



Question Number : 53 Question Id : 953357482995 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
3% Fie % SAEIG 79 o =0l 1 A1 12 T 2| 3 Argiees w9 § satied T F|
ii. STTERTET il TEET
i, TS T
v. SATRIAT 35 T 381 T2a0mor

lq'sﬁ?ﬁ:raﬁ:

Options :
. (ib), (D), (v), (iv), (iii)

, (D), (i), (v), (iv), (i)
(i), (), (i), (), (i)

o, (v, (i) (i), (v), (D)

Question Number : 54 Question Id : 953357482996 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ravi solved an algebraic equation by adopting following steps
2x+14 = 26

=2x=26—14

=5 2x =12

== 2XJ2 =12 ]2

s g fy

¥

Which method did he adopt?



Options :

1. Visualisation
2. Transposition
3. Estimation

4, Trial-Error

Question Number : 54 Question Id : 953357482996 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T e TeAREe =IoT SRl SAUHTERE U5 o119 TH 30T 27 ST 2
2x+14=2

— 2x=26-14

el e

= x=06
36 HIH-ET Tafer 20T
Options :

EPIET]

1. =

2. T~

HAAHT A
3. @

. mr—vrgr%%ﬁ'r



Question Number : 55 Question Id : 953357482997 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In data handling, the common misconception the students have about “mean - as a measure of central tendency” is:
Options:

1. Mean s computed by adding all the numbers in the set and dividing the sum thus obtained by the number of items
5 Mean is used everywhere as a measure of central tendency regardless of the context of the data
3. Mean is affected by extremely large and extremely small values in the data

4. The order of data is irrelevant to the calculation of mean

Question Number : 55 Question Id : 953357482997 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT T B T 21 T 5 0 2 ] B AT A AT O U S e i 7 R
Options :

T 1 e A= W S o T 0 TR Tt o HIe] e 01 3 AT [T 0 § e
1 B

] 1 FaH ST A ff 1, 17 Ve Ha S 6 A0 % FY H A U A 2

. ¢ s it f =, N -,
, T STTRST 5 S I T A DI T ¥ IHIaT BT 2

, TSI A U F ST o 3 6 2



Question Number : 56 Question Id : 953357482998 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is most appropriate regarding the use of questioning as a pedagogical tool in the
mathematics classroom:

Options:

1. Questioning needs to be minimised as it will create fear of mathematics among the students

Use it whenever required since it will help children to express their views and thoughts and will help to improve critical
o thinking

3 Use it as an assessment strategy to assess gifted students

4 Minimise it since it will create discipline related issues in the classroom

Question Number : 56 Question Id : 953357482998 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TRt & .1 T 91 T 3, 74 Q1 T (AT e 3 %0 3 U 3 o 3 AT rav 27
Options :

| 41 1 TUTENE F TG FTTE0 1 Te DA 1 10T o (90 99 I L 9 2

T8 TSV 1 78 3 N o S e e 97 S 3 e 6 A 3§ S [
, o T 3 T 0 ¢
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Question Number : 57 Question Id : 953357482999 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

a € ; a i B
If s and S are two fractions, where i 0, then =l called the

Options :

1. Multiplicative inverse
2. Commutative property of fractions
3 Multiplicative identity of fractions

4. Closure property of fractions

Question Number : 57 Question Id : 953357482999 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
a & 5o . a b
aﬁ:g 3R - am%ﬁ%ﬁg == 0%,3"15 FEAEIR ¢

Options :

r\-\. =,
IUIeHen AldetlH
1. =
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, =T 7 sFa =S Torey
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Question Number : 58 Question Id : 953357483000 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher gives 1-cm grid papers to the students in her class. The task is to decide:

(a) how many rectangles can be made having an area of 48cm?
(b) how many rectangles can be made having a perimeter of 24cm

Which of the following statement is most desirable for the given activity from a reflective teachers' perspective:
Options :

1 To develop a deeper understanding of the relationship between perimeter and area
o The activity is based on Inductive method of teaching
3 It is a good activity to compare rectangles and circles

The activity would be better if the teacher had posed the open ended question to be solved using the formula rather
4. than using a paper

Question Number : 58 Question Id : 953357483000 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e, PO < S T ST -1 om T (ST U e A g R A A e 2 1

3 i R AN A
(1) 48 cm” &% e Tehad STIA S0 ST Hahd L,
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Options :
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Question Number : 59 Question Id : 953357483001 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

It is more useful to know how to Mathematise than to know a lot of Mathematics'. This statement is given by:
Options :
1. David Wheeler

5 George Polya

3. Henri Poincare

4 Srinivasa Ramanujan

Question Number : 59 Question Id : 953357483001 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T T T 1 ST 1 U8 7 ST A1 ST 2 o IO ot ot o 17 2 8 0 e T -

Options :

| Sfreder
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Question Number : 60 Question Id : 953357483002 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement/statements envision the growth of a mathematics teacher at middle school level?
(a) Knowledge of mathematics and content specific pedagogy

(b) Ability to recall any given formula

(c) Reflecting on the teaching-learning process and student learning

(d) Successfully preparing students for Math Olympiads

Choose the correct option.

Options :
1. (c) and (d)

5. (b)and (d)
3. (a) and (c)

4. only (b)

Question Number : 60 Question Id : 953357483002 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fafee foamem & = W 07 5§ S99 T 0 3 e 5 faw e 2
a. TV S Ty 2] FITRTE o7t P o 1
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Question Number : 61 Question Id : 953357483003 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following table depicting properties of material and uses of materials.

Property of Material Use
A. Malleable (i)  Electrodes in cell
B. High melting point (i)  Construct bridges

C. Good conductor of heat (i)  Wrapping food items
and light

D. Strong (iv)  Making Thermometers

E. High coefficient of thermal | (v) Heating elements of an
expansion appliance

Which of these make the correct matching set?
Options :
1. A-(iv), B-(v) , C-(i) , D-(ii) , E-(iii)

o A-(iv), B-(iii) , C-(v) , D-(i) , E-(ii)

3. Adiii), B-(v), C-(i), D-(ii) , E-{iv)



4. A-(v), B-(iv) , C-(i) , D-(ii) , E-(iii)

Question Number : 61 Question Id : 953357483003 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

. Ax(iv), B-(v), C=(i), D-(ii), E-(iii)

, A<(iv), B-(iii), C-(v), D~(i), E(ii)

5 A(ii), B-(v), C(i). D-(ii), E-(iv)

4. A-(v), B~(iv), C~(i), D-(ii) E~(iii)

Question Number : 62 Question Id : 953357483004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following vitamins are fat soluble?
Options :

1. Vitamin B and Vitamin C



2. Vitamin A and Vitamin B

3. Vitamin A, Vitamin D and Vitamin E

4. Vitamin A and Vitamin C

Question Number : 62 Question Id : 953357483004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 63 Question Id : 953357483005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements correctly describe(s) the function of transpiration in plants?
(A) It helps in cooling the plant.

(B) It helps in absorption and distribution of water and minerals to leaves.

(C) It helps in exchange of gases with the environment.

Options :
1. Aand B



2. BandC

3. AandC

4. A BandC

Question Number : 63 Question Id : 953357483005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 953357483006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following statements is/are true regarding the pressure exerted on a certain area by a brick?
A. Pressure is inversely proportional to area

B. Direction of pressure is opposite to that of the applied force

C. Unit of pressure is the same as that of the force

Options:



1. Aand B

2. only A

3. Band C

a. only B

Question Number : 64 Question Id : 953357483006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 953357483007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Shaurya went for a trekking trip. During the trek he accidently placed his hand on the bush. He felt the sting and his

hand started itching. The instructor immediately took a leaf of one of the plants, crushed it and rubbed it on the

affected area. What could he the nature of the chemical which caused sting and nature of the leaf respectively?
Nature of chemical which cause | Nature of juice in the leaf

sting
Options :
1 acidic basic
5 basic acidic
3 acidic acidic
4 basic basic

Question Number : 65 Question Id : 953357483007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 953357483008 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Whales, sharks, dolphins and fish are all aquatic animals. Which of the following statements describes their respiratory
system correctly?

Options :
1. All of them breathe through gills.

2. Whales and fish breathe through gills.

3. Sharks and dolphins breathe through lungs.

4. Whales and dolphins breathe through lungs.

Question Number : 66 Question Id : 953357483008 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 953357483009 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct sequence of steps of removal of waste in the human excretory system.
Options :
1. Urinary bladder—kidneys—ureters>urethra

2. Kidneys—urinary bladder—=ureters>urethra
3. Kidneys—ureters—>urinary bladder—>urethra

4. Urinary bladder—kidneys—>urethra—ureters

Question Number : 67 Question Id : 953357483009 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 953357483010 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match items in Column | with Column Il.

Mode of reproduction Plant
A) Cutting (i) Rose
B) Spores formation (i)  Potato
C) Fragmentation (iii)  Spirogyra
D) Budding (iv)  Yeast
(v)  Ferns
Options :

1 A}, B-(iii), C-(v), D-(iv)
o A-(i), B-(v), Ciii), D-{iv)
3. A-(v), B-{iii), C-(iv), D-(i)

4. A-(ii), B-(v), C-(iv), D-(i)

Question Number : 68 Question Id : 953357483010 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. A-(i1), B-(1i1), C~(v), D~(1v)

, A<(i), B-(v), C(iii), D(iv)



o A-(v), B(iii), C-(iv), D-(i)

4. A=(ii), B~(v), C-(iv), D-(i)

Question Number : 69 Question Id : 953357483011 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following aspects of substances involved in a chemical reaction:

A. Physical state of all the substances

B. Number of molecules of all substances

C. Number of atoms of each substance

D. Sum of masses of all atoms of substances

Which of the above remain the same before and after a chemical reaction has taken place?

Options:
1. Aand B
2 BandC

3. Cand D

4, Aand D

Question Number : 69 Question Id : 953357483011 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357483012 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A gas is produced when a metal reacts with acids. Which of the following statements is true about this gas.
Options :

1. Itturns lime water milky.

L has a pungent smell.

3 It burns with pop sound.

4. Itgives dense white fumes with solution of ammonia.

Question Number : 70 Question Id : 953357483012 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1 7 ST S7FF & AT T 2 O T A ] 6 e O 9 A e )

Options :

1 e = 3 T e 3
, ST T T AT 2

3, TEUTT T AT & Y et 2

. T AFIHAT F ST & WY =T %ﬁ@ﬁ%ﬁ?%ﬁ

Question Number : 71 Question Id : 953357483013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A man purchased ‘X' to use it as fuel for cooking. What qualities X’ should possess to be used as a fuel?
A) Low ignition temperature and cheap.

B) High calorific values and low ignition temperature.

C) Moderate calorific value and non-toxic.

D) Moderate Ignition temperature and cheap.

E) Low calorific value and non-toxic.

Options :

1. A B

2. BC
3 AE

4. GD



Question Number : 71 Question Id : 953357483013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. A B

5. B, C

3. AE

4. G D

Question Number : 72 Question Id : 953357483014 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The purpose of adding potassium permanganate (KMnO,) in water in a distillation plant is to-
Options:
1. decrease the boiling temperature of water

5 Increase the pH of water

3 remove the organic impurities



4 increase the boiling point of water

Question Number : 72 Question Id : 953357483014 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 953357483015 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the statements given below and choose the correct option.
Assertion (A): A switch is a source of electric current in a circuit.
Reasoning (R): When the switch is open (off), the air gap between the terminals prevents the flow of current.

Options:
1. Both A and R are true and R is the correct explanation of A.

2. Both A and R are true but R is not its correct explanation.

3. Alisfalse but R is true.



4. Both A and R are false.

Question Number : 73 Question Id : 953357483015 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357483016 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Alighter and a heavier object possess the same kinetic energy. Which of the following statements will be true
regarding their velocities?

Options :
1. Velocity of heavier object is greater than velocity of lighter object.

2. Both will have same velocity.

3. Velocity of heavier object is less than lighter object.



4. Velocities can't be compared.

Question Number : 74 Question Id : 953357483016 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 953357483017 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The place inside the earth’s crust where the earthquake originates is called as
Options :
1. focus of the earthquake.

2. epicentre of the earthquake.

3. fault zone of the earth.



4. seismic zone of the earth.

Question Number : 75 Question Id : 953357483017 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357483018 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher asks students to suggest a method to demagnetise a magnet. Some responses are:
A) “dropping a magnet on floor several times”

B) “breaking the magnet into 2 halves”

C) "heating the magnet”

D) “throwing the magnet in water”

E) “by hammering it”

Which of the following are correct?

Options:
1. AB and D

5 G DandE



3 A CandE

4. G DandE

Question Number : 76 Question Id : 953357483018 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 953357483019 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is incorrect?



Options :

1. Rolling friction is greater than sliding friction.
2. Sliding friction is less than static friction.
3 Static friction is greater than rolling friction.

4 Sliding friction is greater than rolling friction.

Question Number : 77 Question Id : 953357483019 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357483020 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A convex lens submerged in a liquid medium of higher refractive index will act as a-
Options :

1. Divergent lens



2. Plane mirror

3. Concave mirror

4. Convergent lens

Question Number : 78 Question Id : 953357483020 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357483021 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The characteristics of sound that distinguishes between two different sounds of same pitch and loudness.
Options :
1. Inte nsity

2. Timbre



3. Shrillness

4. Amplitude

Question Number : 79 Question Id : 953357483021 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357483022 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the statements given below and choose the correct option.
Assertion (A): Refrigerator pipes are painted with a black colour.
Reason (R): Good absorbers of heat are also good radiators.
Which of the following is true?
Options:

1. Both Aand R are true and R is the correct explanation.

2. Both A and R are true but R is not the correct explanation for A.



3. Ais not correct but R is correct.

4. Both A and R are not correct.

Question Number : 80 Question Id : 953357483022 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357483023 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is most appropriate:

Sequence of planning for your science classroom using inquiry approach in teaching of topic ‘Heat and Temperature’.
A. ask students to infer direction of heat flow in different objects.

B. ask students to explore what happens when they place a container with hot water inside a container with cold
water.

C. ask students to describe relationship between heat and temperature.

Options :



1. A>B>C

5. C>B>A

3. B=>C2A

4. A->C->B

Question Number : 81 Question Id : 953357483023 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357483024 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For nurturing creativity in science classroom among students, a teacher can do all of the following, except:

Options :



1. Encourage students to frame answers in a prescribed manner.
o Assist students in developing models of inquiry.
3. Guide students in the use of a multidisciplinary approach.

4. Provide a rich variety of learning experiences to students.

Question Number : 82 Question Id : 953357483024 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357483025 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following steps would precede the rest in an inquiry oriented class in which image-formation in plane
mirrors is being introduced in class VII.

Options :

1. Students draw the ray diagram depicting the path of light as it travels from object to mirror to observer.



o Students place a number of objects at different positions in front of a mirror and observe their images.
3. The definition and explanation of the laws of reflection is provided in the beginning by the teacher.

4 Teacher demonstrates the process of ray diagram.

Question Number : 83 Question Id : 953357483025 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357483026 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher wishes to apply the problem-solving strategy to help students understand various ways to conserve energy
in a school. The first step in the problem-solving strategy will be

Options :

1. Collecting data about energy-usage



2. ldentifying wasteful practices
3. Evaluating the effectiveness of steps taken

4 Taking remedial measures like awareness campaigns

Question Number : 84 Question Id : 953357483026 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357483027 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher asks the following questions while involving students in an investigatory activity on germination of seeds.
A. How much do they grow if we double the amount of water?

B. How much are they growing every week?

Which of the following process skills are developed by these questions:

Options :



1 Controlling variable and observation

2. Classification and observation

3. Inference and hypothesis

4. Observation and classification

Question Number : 85 Question Id : 953357483027 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 953357483028 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Consider the statements given below and choose the correct option:
Assertion (A): A teacher should teach each science concept assuming students know nothing.
Reasoning (R): Science is an abstract subject with no clear interconnectedness between scientific concepts.

Options :

1 Both Assertion and Reasoning are true and Reasoning is its correct explanation.
2 Both Assertion and Reasoning are true but Reasoning is not its correct explanation.
3 Assertion is true but Reasoning is false.

4. Both Assertion and Reasoning are false.

Question Number : 86 Question Id : 953357483028 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357483029 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Asking questions such as “Can you think of a different and hetter way of trying out your ideas?” after an investigatory
project helps student to

Options :
1. reflect critically

2 communicate

3. Observe

4. hypothesize

Question Number : 87 Question Id : 953357483029 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357483030 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher introduced the topic of cyclones in class by asking the following questions (without mentioning the topic to
he taught):

Have you heard about heavy rains in West Bengal and Odissa in 20217 Has anyone of you heard the term “Yaas”?
What could be the objective of the teacher behind asking these questions to students?

Options :

1. To check general knowledge of students

2. To make the class attentive.

3 To contextualise the topic.

4. ToO break the monotony of the class.

Question Number : 88 Question Id : 953357483030 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357483031 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following attributes are essential components of scientific temper?
a) Open mindedness

b) Scepticism

c) Subjectivity

d) Rigidity

Options :

1.b,¢

2. c;d
3. a,b

4, ad

Question Number : 89 Question Id : 953357483031 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1. B, C




Question Number : 90 Question Id : 953357483032 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement:
Options :

1 Science is a blend of logic and imagination.

o Science is a process and not a product.

3. Science is all about the experimentation.

4 Only science can inculcate values among students.

Question Number : 90 Question Id : 953357483032 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HE T T AT
Options :
| T % TR Femre w Haw E

5 IERIERCRSIE 2 R [ b

; IEMIEE: BRI R ?;,w%

A %‘%%ﬁﬁ%@ﬁfﬁﬁ'ﬁ*ﬁ T TR T TohaT 2



Language I

Section Id : 95335715100
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 95335727572
Question Shuffling Allowed : Yes

Question Id : 953357483033 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the questions that follow by selecting the correct
most appropriate options.

Cases of fight abroad caused by poltical persecution apart, people emigrate mostly for economic
betterment. Even many asylum seckers who wash up on westem shores are in fact economic migrans.
Pundits predict that with the advance towards a globalised economy, this sort of migration will become
unnecessary. Yet, of this planet’s sox billion peaple, more than four billion still ive tn less than one
hundred rupees a day, of which more than one billion ltve on less than seventy-five rupees a day. The
tewards of globalisation have spread unevenly. And where they have spread, they have whetted the
appetite for a better lfe so much that salaries from jobs n the Bengaluru back offices or call centres of
mternational companies may not be able to meet. Most tlegal Indian immigrants seem to be from
Punjab, one of the most prosperous states i the country.

[llegal immigration cannot be stopped. It can only be checked. For this, without doubt, border confrol
regimes In the developed world that seek to keep out foreigners have to first loosen p. In any case,
these laws g0 against the right to work, the right to free choice of employment and protection against
unemployment enshrined in Article 23 of unversal Declaration of Human Rights. More than this, the
realisation that they could be stranded without an adequate work force n the years to come has already
spurred an awareness 1 many host countries that ther immigration laws need to be relaxed. Here, Inda
could learn a lesson from S Lanka which plays an active faciltating role in economic emigration. It
assesses demand for labour abroad, provides basic training, even language skills to potential emigrants
and runs a large-scale awareness campaign about the risks of illegal immigration abroad.

Sub questions

Question Number : 91 Question Id : 953357483034 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

People do not migrate to other countries because of:
1. political harassment.

2. social injustice.

3. poverty at home.

4. better job opportunities there.

Options :

1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 953357483035 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

It is believed that when economy becomes globalised:

1. people will start earning around one hundred fifty rupees
a day.

2. political per I rill

2. political persecution will stop.

3. nobody will wash the western shores.

4. poor people will stop going to the rich countries.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357483036 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As a result of globalisation

1. all countries have become rich.

2. all countries have remained poor.

3. people have stopped seeking political asylum.
4. people are demanding higher salaries.

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357483037 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Illegal immigration can be stopped:
1. through strict border control.

2. by giving jobs to the poor.

3. by ‘loosening up’ the foreigners.

. by relaxing the immigration laws.

e

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357483038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:

A. Workers in Bengaluru are asking for higher salaries.

B. Very soon western countries will be left without a trained
work force.

1. A is right and B is wrong.

2. A is wrong and B is right.

3. Both A and B are right.

4. Both A and B are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357483039 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Yet, of this planets’

Which part of speech is the underlined word?
1. Adverb

2. Adjective

3. conjunction

4. Interjection

Options :
1.1
2.2
3.3

4.4

Question Number : 97 Question Id : 953357483040 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“The sending country also’

Which part of speech is the underlined word?
1. Adverb

2. Adjective

3. conjunction

4. Interjection

Options :
1.1
2.2
3.3

4.4

Question Number : 98 Question Id : 953357483041 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘They have whetted the appetite’
The word "whetted’ means:

1. moistened

2. increased

3. flowed

4. reduced

Options :



1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357483042 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“an active facilitating role’
The word ‘facilitating” means:
1. helpful

2. important

3. regular

4. irritating

Options :
1.1
2.2
3.3
4.4

Question Id : 953357483033 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the questions that follow by selecting the correct
most appropriate options.

Cases of fight abroad caused by poltical persecution apart, people emigrate mostly for economic
betterment. Even many asylum seckers who wash up on westem shores are in fact economic migrans.
Pundits predict that with the advance towards a globalised economy, this sort of migration will become
unnecessary. Yet, of this planet’s sox billion peaple, more than four billion still ive tn less than one
hundred rupees a day, of which more than one billion ltve on less than seventy-five rupees a day. The
tewards of globalisation have spread unevenly. And where they have spread, they have whetted the
appetite for a better lfe so much that salaries from jobs n the Bengaluru back offices or call centres of
mternational companies may not be able to meet. Most tlegal Indian immigrants seem to be from
Punjab, one of the most prosperous states i the country.

[llegal immigration cannot be stopped. It can only be checked. For this, without doubt, border confrol
regimes In the developed world that seek to keep out foreigners have to first loosen p. In any case,
these laws g0 against the right to work, the right to free choice of employment and protection against
unemployment enshrined in Article 23 of unversal Declaration of Human Rights. More than this, the
realisation that they could be stranded without an adequate work force n the years to come has already
spurred an awareness 1 many host countries that ther immigration laws need to be relaxed. Here, Inda
could learn a lesson from S Lanka which plays an active faciltating role in economic emigration. It
assesses demand for labour abroad, provides basic training, even language skills to potential emigrants
and runs a large-scale awareness campaign about the risks of illegal immigration abroad.

Sub questions

Question Number : 91 Question Id : 953357483034 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

People do not migrate to other countries because of:
1. political harassment.

2. social injustice.

3. poverty at home.

4. better job opportunities there.

Options :

1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 953357483035 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

It is believed that when economy becomes globalised:

1. people will start earning around one hundred fifty rupees
a day.

2. political per I rill

2. political persecution will stop.

3. nobody will wash the western shores.

4. poor people will stop going to the rich countries.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357483036 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As a result of globalisation

1. all countries have become rich.

2. all countries have remained poor.

3. people have stopped seeking political asylum.
4. people are demanding higher salaries.

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357483037 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Illegal immigration can be stopped:
1. through strict border control.

2. by giving jobs to the poor.

3. by ‘loosening up’ the foreigners.

. by relaxing the immigration laws.

e

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357483038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:

A. Workers in Bengaluru are asking for higher salaries.

B. Very soon western countries will be left without a trained
work force.

1. A is right and B is wrong.

2. A is wrong and B is right.

3. Both A and B are right.

4. Both A and B are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357483039 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Yet, of this planets’

Which part of speech is the underlined word?
1. Adverb

2. Adjective

3. conjunction

4. Interjection

Options :
1.1
2.2
3.3

4.4

Question Number : 97 Question Id : 953357483040 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“The sending country also’

Which part of speech is the underlined word?
1. Adverb

2. Adjective

3. conjunction

4. Interjection

Options :
1.1
2.2
3.3

4.4

Question Number : 98 Question Id : 953357483041 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘They have whetted the appetite’
The word "whetted’ means:

1. moistened

2. increased

3. flowed

4. reduced

Options :



1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357483042 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“an active facilitating role’
The word ‘facilitating” means:
1. helpful

2. important

3. regular

4. irritating

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 95335727573

Question Shuffling Allowed : Yes

Question Id : 953357483043 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Directions: Read the excerpt given below and answer the questions that
follow by selecting the correct/most appropriate options:

Did ve not hear it? No; it was but the wind,

or the car rattling over the stony street;

On with the dance! Let joy be unconfined;

No sleep till morn, when youth and pleasure meet
To chase the glowing hours with flying feet
But hark!  that heavy sound breaks in once more,
As if the clouds its echo would repeat:

And nearer, clearer. deadlier, than betore!

Arm! Arm! Itis_itis __ the cannon’s opening roar!

Sub questions

Question Number : 100 Question Id : 953357483044 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The narrator heard the sound of:
1. wind.

2. acar

3. firing of a cannon

. thunder of the clouds.

N

Options :
1.1
2.2
3.3

4.4

Question Number : 101 Question Id : 953357483045 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What were the young men doing?
1. Dancing

2. Singing

3. Flying

4. Fighting

Options :

1.1



2.2
3.3
4.4

Question Number : 102 Question Id : 953357483046 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Two contrasting images pictured in these lines are:
1. dance and song

2. dance and war

3. arm and cannon

. youth and pleasure

I

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357483047 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What would the clouds echo?
1. rattling of the car

2. roar of the gun

3. noise of the wind

. limitless joy of the youth

N

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357483048 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘the car rattling over the stony street’

Which figure of speech has been used in the above line?
1. Onomatopoeia

2. Metaphor

3. Personification

4. Assonance
Options:
1.1
2.2
3.3

4.4

Question Number : 105 Question Id : 953357483049 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“And nearer, clearer, deadlier than before’
Name the figure of speech used in this line.
1. Onomatopoeia

2. Metaphor

3. Personification

4. Assonance

Options :
1.1
2.2
3.3
4.4

Question Id : 953357483043 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Directions: Read the excerpt given below and answer the questions that
follow by selecting the correct/most appropriate options:

Did ve not hear it? No; it was but the wind,

or the car rattling over the stony street;

On with the dance! Let joy be unconfined;

No sleep till morn, when youth and pleasure meet
To chase the glowing hours with flying feet
But hark!  that heavy sound breaks in once more,
As if the clouds its echo would repeat:

And nearer, clearer. deadlier, than betore!

Arm! Arm! Itis_itis __ the cannon’s opening roar!

Sub questions

Question Number : 100 Question Id : 953357483044 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The narrator heard the sound of:
1. wind.

2. acar

3. firing of a cannon

. thunder of the clouds.

N

Options :
1.1
2.2
3.3

4.4

Question Number : 101 Question Id : 953357483045 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What were the young men doing?
1. Dancing

2. Singing

3. Flying

4. Fighting

Options :

1.1



2.2
3.3
4.4

Question Number : 102 Question Id : 953357483046 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Two contrasting images pictured in these lines are:
1. dance and song

2. dance and war

3. arm and cannon

. youth and pleasure

I

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357483047 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What would the clouds echo?
1. rattling of the car

2. roar of the gun

3. noise of the wind

. limitless joy of the youth

N

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357483048 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘the car rattling over the stony street’

Which figure of speech has been used in the above line?
1. Onomatopoeia

2. Metaphor

3. Personification

4. Assonance
Options:
1.1
2.2
3.3

4.4

Question Number : 105 Question Id : 953357483049 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘And nearer, clearer, deadlier than before’
Name the figure of speech used in this line.
. Onomatopoeia

. Metaphor

. Personification

4. Assonance

—_

I3

L]

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3

Sub-Section Id : 95335727574

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357483050 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Connotative meaning of a word is
1. Symbolic

Factual meaning

Semantic meaning

Literal meaning

w1

i

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 953357483050 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Connotative meaning of a word is
1. Symbolic
2. Factual meaning
3. Semantic meaning
4. Literal meaning

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357483051 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which method of teaching believes in *learning form through message-focus’?
1. Task based teaching
2. Structural approach
3. Dogma approach
4. Direct method

Options:

1.1



2.2
3.3

4.4

Question Number : 107 Question Id : 953357483051 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which method of teaching believes in ‘learning form through message-focus™?
1. Task based teaching
2. Structural approach
3. Dogma approach
4. Direct method

Options:
1.1
2.2
3.3

4.4

Question Number : 108 Question Id : 953357483052 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rohit Irfan, who is a Hindi native speaker, is from Lucknow and has now moved to Bangalore for his studies. In his
college he has opted for the study of Spanish and he has been able to use the language of the place, Kannada very well
for different purposes. Which language is he learning and which language is he acquiring?

1. Rohit Irfan learning Spanish and acquiring Kannada.

2. He is acquiring Spanish and learning Kannada,

3. Hels learning both the languages

4. He is acquiring both the languages.

Options :
1.1
2.2
3.3

4.4



Question Number : 108 Question Id : 953357483052 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rohit Irfan, who is a Hindi native speaker, is from Lucknow and has now moved to Bangalore for his studies. In his
college he has opted for the study of Spanish and he has been able to use the language of the place, Kannada very well
for different purposes. Which language is he learning and which language is he acquiring?

1. Rohit Irfan learning Spanish and acquiring Kannada.

2. He is acquiring Spanish and learning Kannada.

3. Hels learning both the languages

4. He is acquiring both the languages.

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357483053 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher found a hotel menu and brought to her classroom. Having divided the class into groups of five, she asked her
students to order food to eat for an amount of Rs. 1400 for five people keeping an amount of Rs.70 for a three wheeler
to go back home. Two of them are vegetarians and one is allergic to mushrooms. Learners in groups have to interact and
order the food ifem to eat on the above condition. What is this piece of work in language teaching-learning known as?
[ Atask
2. Aproject
3. Language processing
4. Ordering a men
Options :
1.1
2.2
3.3

4.4

Question Number : 109 Question Id : 953357483053 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Atteacher found a hotel menu and brought to her classroom. Having divided the class info groups of five, she asked her
students to order food to eat for an amount of Rs. 1400 for five people keeping an amount of Rs.70 for a three wheeler
fo go back home. Two of them are vegetarians and one is allergic to mushrooms. Learners in groups have to interact and
order the food item to eat on the above condition. What is this piece of work in language teaching-learning known as?

L. Atask

2. Aproject

3. Language processing

4. Ordering a men

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357483054 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true and which of them are not true?
a. A language without script is dialect.
b. A language may have many dialects.
c. Some languages do not have grammar.
d. Sign language does not have a grammar.

‘b’ is true and *a’, ‘¢’ and *d” are not true.

‘b’ and “d’ are not true and ‘¢’ and ‘a’ re true.
‘a’, ‘c’and ‘d’ are true and ‘b’ is not true.
‘c’and ‘a’ are true and ‘a’ and ‘d’ are not true.

L

>

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357483054 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true and which of them are not true?
a. A language without script is dialect.
b. A language may have many dialects.
c. Some languages do not have grammar.
d. Sign language does not have a grammar.

‘b’ is true and *a’, ‘c” and *d’ are not true.

‘b’ and “d’ are not true and ‘¢’ and ‘a’ re true.
‘a’, ‘c’and ‘d’ are true and ‘b’ is not true.
‘c’and ‘a’ are true and ‘a’ and “d’ are not true.

L R

-

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357483055 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a post reading activity?
1. The talk about the author by the teacher
2. Asking questions to relate the text with learners life experiences
3. Silent reading in groups of four
4. Creating a subtext from the given jumbled sentences

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357483055 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is a post reading activity?
1. The talk about the author by the teacher
2. Asking questions to relate the text with learners life experiences
3. Silent reading in groups of four
4. Creating a subtext from the given jumbled sentences

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357483056 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When we read a text or a story we use our knowledge of the structure of the language to predict what would come next.
What is this known as?

[ Semantic
2. Structural cues
3. Syntactic cues
4. Thematic cues.

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357483056 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When we read a text or a story we use our knowledge of the structure of the language to predict what would come next.
What is this known as?

[ Semantic
2. Structural cues
3. Syntactic cues
4. Thematic cues.

Options:



1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357483057 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Having grouped her learners info groups of five, a teacher read out a text to them and then asks them to jot down words

Tl

and fragments of sentences to recreate the text, not necessarily the exact text. What is this strategy known as?
[. Mutual dictation
2. Composition dictation
3. Grammar dictation
4. Plain dictation

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357483057 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Having grouped her learners info groups of five, a teacher read out a text to them and then asks them to jot down words
and fragments of sentences to recreate the text, not necessarily the exact text. What is this strategy known as?

[. Mutual dictation

2. Composition dictation

3. Grammar dictation

4. Plain dictation

Options :
1.1
2.2
3.3
4.4



Question Number : 114 Question Id : 953357483058 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true of teaching of poetry in language classroom?
a. Poetry teaching-learning helps in learning of grammar.
b. Poetry teaching-learning helps in learning of poetical devices.
c. Poetry teaching-learning is for enjoyment and delight.
d. Poetry teaching is for learning of pronunciation and speech

‘a’and ‘d’ are true
‘b’ and ‘¢’ are frue
*d’ is true

d’ and ‘b’ are true.

i o

Options :
1.1
2.2
3.3

4.4

Question Number : 114 Question Id : 953357483058 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true of teaching of poetry in language classroom?
a. Poetry teaching-learning helps in learning of grammar.
b. Poetry teaching-learning helps in learning of poetical devices.
¢. Poetry teaching-learning is for enjoyment and delight.
d. Poetry teaching is for learning of pronunciation and speech

‘a’and ‘d’ are true
‘b’ and ‘¢’ are true
. *d’ is true

4. *d’and ‘b’ are true.

Lt b —

Options :
1.1
2.2
3.3

4.4



Question Number : 115 Question Id : 953357483059 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is portfolio assessment?

. Collection of instances of learning by the teacher and using it for assessment of learning.

. Recording of the formative and summative assessment activities together and using them for assessment.
. Assessment activities other than summative assessment.

4. Assessment activities other than formative assessment.

fad b —

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357483059 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is portfolio assessment?

. Collection of instances of learning by the teacher and using it for assessment of learning.

. Recording of the formative and summative assessment activities together and using them for assessment.
. Assessment activities other than summative assessment.

4. Assessment activities other than formative assessment.

fad b3 =

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357483060 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What does BICS stand for?
1. Basic interpersonal communicative skills
2. Basic internal communicational strategy
3. Basic interpersonal communicational skills
4. Basic internal communication skills

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357483060 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does BICS stand for?

1. Basic interpersonal communicative skills
Basic internal communicational strategy
Basic interpersonal communicational skills
Basic internal communication skills

ol b

=

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357483061 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does ‘comprehensible input’ means in language learning?
1. Engagement with language which is comprehensible to all learners.
2. Engagement with written and formal language below the level current level of master of the learner.
3. Exposure to high level of written and spoken language above the learner’s current level of mastery.
4. Exposure to meaningful oral and written language somewhat above the learners’ current level of mastery.

Options :

1.1



2.2
3.3
4.4

Question Number : 117 Question Id : 953357483061 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does ‘comprehensible input” means in language learning?
1. Engagement with language which is comprehensible to all learners.
2. Engagement with written and formal language below the level current level of master of the learner.
3. Exposure to high level of written and spoken language above the learner’s current level of mastery.
4. Exposure to meaningful oral and written language somewhat above the learners’ current level of mastery.

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357483062 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not considered as materials for language teaching-learning?
1. Textbook and supplementary readers
2. Computer Programming
3. Newspapers

Audio recorded stories

>

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357483062 Question Type : MCQ Option Shuffling :



No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not considered as materials for language teaching-learning?
1. Textbook and supplementary readers

Computer Programming

Newspapers

Audio recorded stories

L

>

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357483063 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Multilingualism in school education in India refers to
1. Recognising the multilingual characteristics of the country and using it as a resource in teaching-learning of
languages and content subjects.
2. Learning as many languages as possible by all learners in order to cope with the developments.
3. Learning of English by all and studying in English medium
4. Learning of three languages moving from mother tongue to Hindi and English.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357483063 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Multilingualism in school education in India refers to
1. Recognising the multilingual characteristics of the country and using it as a resource in teaching-learning of
languages and content subjects.
2. Learning as many languages as possible by all learners in order to cope with the developments.
3. Learning of English by all and studying in English medium
4. Learning of three languages moving from mother tongue to Hindi and English.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357483064 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of Sign Language?

1. SignILanguage is an artificial language.

2. Sign Language has grammar and a natural language.

3. Sign Language is not natural language like other human languages.
Sign Language has not been recognised in school education.

B

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357483064 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of Sign Language?
1. Sign Language is an artificial language.
2. Sign Language has grammar and a natural language.
3. Sign Language is not natural language like other human languages.
4. Sign Language has not been recognised in school education.

Options :



1.1
2.2

3.3
4.4
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Sub questions

Question Number : 121 Question Id : 953357483066 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357483067 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357483068 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357483069 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357483070 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357483071 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357483072 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 953357483073 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357483067 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘Feedo mmﬁ?ﬁﬂﬁlﬁﬁ E:!‘ -

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357483068 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4.4

Question Number : 124 Question Id : 953357483069 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 126 Question Id : 953357483071 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1.1
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No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Allowed : Yes Group Comprehension Questions : No
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Question Label : Comprehension



ReAfeTRae Tt 1 U, I U WAT & HEE IULTE I AT
TS AT 2T 379 B 37 AL 7 fawraarett w1 ve=m, o
T T STUAT U T%Y S0 2, T & STeht 270+t a7er ue=m=
T 7, T8 U T, T HO T F T F T8 erar 8l 39
U © B B9 5T § U o Wia 370ed, U9, et i wwdur
TET UaT BT B B O, HUEE, a, S, W16, &9, 377 § W
T2 B T TershTe 3 ToT Srreeiet =i ) 397 o feheit o
o o77% 5 ferufer ohT TUeT ferufer AreRT et & AT SR SRt
T B9 TS YRAATH] US T, € TS BN 8, T8 id 291 aThied
2, 5T feacd ST 3wk STged ™ H € g ARdes 31T e
e & e mamme & o e1fenan i ue= % AR B "ay
o, TS ST i UE=IT ST ITeh! UNeh [9aaeq & Haia
IeiEa e T v feme ew R T A Rm
IUHETEIT FET AT 2| UE farwier 2wr 7 siniferss fafaear vr
T ST & G719 F=a1 RTE ATt Uadi &0, USRI, St
T, TATEATHT ST SAT(G e TTh e ¥-ToT 3@ i {Herat
Serayg skt farfarer, eTshifers & wremt i fafaear o wT —ae
1 farfarean fog 3 Tarfererameti % wea gu +ff v v Wi
THTE AT 2| TET F 1o I W A TS Tl ¥
Te W ot erfifes i Wit faerrl, SEehrl 37T freure 3 59
TS T T ST TG 8| I F e, G, STE0T A aiT o 9 A
T U WITeTE TTE % Y HITiThd 96T T B e ot g
TR, TETRTEAT TS T Hiiersh Himr ok AR e s 8,
Wﬂﬂ@qﬁ 3R =5 © STEUIA o6 9T i U
HTifeTeF 3oTE % %Y T AT fopar T B

Sub questions
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Correct Marks : 1 Wrong Marks : 0
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1. T

2. T
3. Wil
4. Taferema
Options :
1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 953357483077 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



37 Tafarermett 3 Tea 7w 3t W v e s T
2 F O T o fafasareti § aftated T8 22

| USIAT 3T F(eaT

2. STTSITEeRT o | ol

3. T R FeFaTg A

4. TEF — FEA

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 953357483078 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WA 1 U SUHETEIY el ST 2, F0F I -
|. U DI HEET 2

2.TF S EAE

3. Wi miferes EtEeaareT e e 2o 2

4. TfSTET HETEIT o1 He SS9 T

Options:
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357483079 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T SFE° T T 5168 & 9T -

1. fommor - faere
2. fawrer - fasmo
3. 38T% — TS

4. T — farsmor
Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 953357483080 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T O ATl U o, T 60 S8 § SUg a9 ©

. 90 91
2. A AT
3. Ty A

Options:

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 953357483081 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR ST 37K TETRSaT 3 WA F T T E -
|. ST

3. T 37T T hT AFAT 9H

4. Tafasedrett i gz==

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335727577

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 953357483082 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T TG T 3 T 1 TS T 1 T, T ) e, T R AT S 7 T
|, STt 1 Fhaere

2, ¥ faaam

3. HET W A e

4, T HIT 1 AT

Options :

1.1

2.2

3.3

4.4

Question Number : 136 Question Id : 953357483082 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



e TN e T ST Tt 1 T, S0 7 7 o T TR T S99 491 T
| TR e

2, T fataerr

3. HET W A e

4, TR AT T S

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 953357483083 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ERLEE IR AT 1P [ SE— T T 8
|. HIgATHS
2. e
3. 93TeHE
4. FEFITTTE
Options :
1.1
2.2
3.3

4.4

Question Number : 137 Question Id : 953357483083 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



EEEHEEC RIRE 15 J— =T BT 2

3

4. dfrarensh
Options :

1.1

2.2
3.3
4.4

Question Number : 138 Question Id : 953357483084 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T o W 6§ a1
, tjnétg FT T I

3

Options :

[

1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357483084 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



HIETIT G T IaTER T £ -
| et % T e1rees um fofaw
T % W ! T SR
3. tj:%t; T T IS0

4. WTETeRe =RT B S 26l T feran
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Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357483085 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T2t o e i gf @ i W g T S E

|. 5T Sk I THheTe & FT =Y 22

TG T WTTHA! T TUSRT 74T 3T ST 22

3. Y2 F g F97 7 S 2

4. Tordt T =2 T JUN SHITSTT T TF T FHHI R =

Options :

[

1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357483085 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TEet ot ST Al ST & i A T FeH T B -

|. BT &5 H THe™ @ 1 AT 27

2. G T HITHA! 1 TURT T e S0 22

3. Y2 § Ig F7 7 A 2

4. Toreft U =127 =T U SITST S TF T T =S B

Options :

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357483086 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

S 3 T SR, TR a1 3 T 1 T T 2 AT T I e T
TR

| S 1 T
), STaTae! 31 e
3, e % A

4, HEH B S
Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 953357483086 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



S 3 T SR, TR a1 3 T 1 T T 2 AT T I e T
FREWE

| ST 3

), YT &1 T

3, e & A

4, TR S

Options :

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357483087 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
| THHER | FHE e

o T Y
2. %A — Fosd| "=l

3. 7. W aRETEE e
4. U= F AT o ST S

Options :

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357483087 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



| THER | T G

2. B — TS o=l

3. 1.t ot urrETEE T

4. USIE F AT & STa=id ]

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357483088 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IS AT F T 3 SHUR F T T A F 0 F T A T 2
| 7 o Tt et

), T YA W

4, ST 7 faest wmrert

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357483088 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



SIS AT 3 T 5 S F T ] FH FA F (0 F T S
| 7 o Tt et

), T YA W

4, ST 7 faest wmrert

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357483089 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FeraITeraT = T &1 %91 = H198 2| T o5 % &9 7 31 e, FFTH|
1. el

2. {HTEIH

3. AT

4. AR
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357483089 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



eIt = T 21 %91 5§19 2| U e % B9 7 7 G, FETH|
1. =hedl

2. °1=9H

3, AT

4, ATHRAT

Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 953357483090 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FT TS T F=I1 % U — SIS T [Sohiad i T TTehE IaTew 2-
|. STT=RE UG T AT T T

3. STT=VE T IR Al TR FHAl

4. FTT=IT A HiST ITea] i T@Thd FAT

-3

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357483090 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T TS =] 3 TS — TS Tl TS e T 1 FHFE IETE -
Lﬂfﬁﬁmﬁﬂﬁm‘mégﬂﬁwa

2. AT=E TG T T

3. STT=0R H HIAT I Hl TR FAT

4. STT=IE A HiS Ieal i T@Tha FAT

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357483091 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
STEROT — T3Teqor T e fafer T & 2T 2

1. U139 — T&dh

[

3

4. T
Options :
1.1

2.2
3.3
4.4

Question Number : 145 Question Id : 953357483091 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST — ToTequr ST ST TSer T T AT 2|
1. U189 — T+ h
Gt g

&

3

4. T9
Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357483092 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WTST TRE — @ i wieram = e1ha=T o z|
. Shfaar

Question Number : 146 Question Id : 953357483092 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



WTST TRE — g™ i wieFam = eAha=T o 2
|. hfaar

2. hgM Tl

ST

4. AT

L]

Options :
1.1
2.2
3.3

4.4

Question Number : 147 Question Id : 953357483093 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

THT SHISTEAT o5 TIoRT o1 T2 & ShiF-ST TTITaI e Wi 1re S99 27
1. ¥Eat X ATST G

4. FoTg FAT

Options :
1.1
2.2
3.3

4.4

Question Number : 147 Question Id : 953357483093 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TST SHITEAT 3 (3T T ST | HIH-FT AT HaITI% SUFH 27
B T%marmww

N ST

Options :
1.1
2.2
3.3

4.4

Question Number : 148 Question Id : 953357483094 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

-

mw|aa’:r¢-1cmm-|ﬂ?w|t;ﬂaﬁ|¢ﬁ FEaFE T aaIF e F £ -

| T T v e
. ST =T IS foREAT

[

3. fasoe, gieeT &=
4. g forg
Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 953357483094 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T ShT GSTH (IRaa SATHeATh o TS J e Je © -
| ST 3T IS v
2. T = ST fegT

3. Tasu=, Uz ==

4.@%‘@?

Options :

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357483095 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T ST AT § FaieR qeeae
. i wTeat 1 T
RSiERIGR R L)

3. 3 _ =HeT

4. 9T T T AE TG

Options :

[

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357483095 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



e S T I Tt Tee
. e wTeat = A4

2. orE i & g

3, 37— =HeT

4. 9T T T A TG

Options :

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 953357483096 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T HTT 5] T T T T AN T ﬁ*sq¢.' IER] %IEW%%%mﬁmwﬁﬁ?
|, O T O T T A |

), o AT ¥ o

3, o 1 e H e |

4, TR, T | T H A T W FA

Options :

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 953357483096 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T 7 T S TR T TS A T T Fovl 2] W e v S A R
|, 1 T 9T 0 I T |

), e AT ¥ forge

3, o A §

4 T, T | T AN - T WO I

Options :

1.1
2.2
3.3

4.4



